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SUBJECT CODE NO:- 1156
FACULTY OF HUMANITIES
B.A.S.Y. (Sem-1V)
Examination March/April-2022 (To Be Held In June/July-2022)
Sociology - VII
(Population in India)
[Max.Marks:50]

Please check whether you have got the right question paper.

1. All questions are compulsory.
2. Use blue or black pen only.
3. Use pencil for diagram.
4. Use of any signs, attracting attention is prohibited.
¢, T YT Hisal.
. Bad [dedr g Fredr Uddrd gy rdr.
3. IMHcITATST AfTFerdr aTo Tl
Y. HIUIAE F&TAUSH GOT g el HUIH Fiaser e,
A) Fill in the blanks (Attempt all) 05
1., e is the country with most population in the world.
2. In 2011 the population of India was-------------- - Crores.
3. Inthe year -----=--=--=-=------ family planning programme was started in India.
4. The marital age for girls in India is -----=----------
5. The first population policy was announced in the year.

37) Reprear e oR’T. (F9 3ifar)
?) STaTTCiTeT g7 Iaiftier Slhaeddr 32 37e.
) 08¢ A AR olleh TEAT FIET Bra.
3) ded [AGISleT HRIHATN Feard AR arge STel.

B) Answer in one sentence (attempt all) 05
What is fertility?

Write the definition of environment.

What is mortality?

What is Migration?

In which year abortion Act was passed in India.

PICKE ISP

&) Ul aredTd 3cak forgl. (Fd 3ifaanr)

26EBA0390EF71427D48B5A2EQ0796EBO2



Q.2

Q.3

1156

STelel FEUTS 1T ?
gATaRuTET <greEdn fogr ?

AT FgUTal S1I?

TTATA FEUTS I ?
HRATT AT ST et TR STl

£ X W O e

A) Explain concept / terms / units / events — (any two) 10
1. Industrial stage of population Transition
2. Sex- Ratio
3. New population policy.
4. Age Structure.

37) HbhoUdT /| HAT / UCh | AT TASC . (PIUTART aled)
. SREEIT HhAUTAT e Jrawar.
AfdeT cNhEEAT YR

JAETTAT

€« w oL o

B) Attempt in short (any two)
1. State the biological factors affecting fertility.
2. Discuss on over population
3. Explain the success of Indian population policy.
4. Discuss on the health of women.

o) AgFITd 3 ToIgT ( HIvTaer &led)

oledeATay URUMH SUTRT SHaeEdiy e Hiam.
. JTARFT NhTEdaX TdT .

. Afger IRFAER T4 w7

10

o W N

Answer in detail (any one) 20
1. Explain the relation between population growth and environment.
2. Explain the factors affecting mortality in India.

IiaeR 3cax fogr. (order T )
2. ClhEEAT gl T qATEROT redTcllel TRER HLT FASE .
. ARATA AAGY IRUMH S0 gceh TASE .
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